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M. Y.(kg.m)| M. X.(kg.m) Y.(m) | X.(m) | M.(kg)| dsblghu | Jsblghoaols s [ooled
318234.375 657684.375 3.75 7.75 84862.5 116.25 730
195375.375 249479.325 9.75 12.45 20038.5 27.45 730
220642.5 78073.5 9.75 3.45 22630 31 730
75684.375 63264.375 9.75 8.15 7762.5 11.25 690
44280 88560 6 12 7380 12 (35
41616 (0] 6 0 6936 12 578
107508 69432.25 12 8959 15.5 578

(0] 69432.25 (0] 8959 15.5 578
1003340.625 1275926.075 167527.5

00 N || 'Oy | O (S (00 (N (=

Xz 0 piSy 7.62
Y ez 0 oS 5.99

M.Y.(kg.m) M.X.(kgm) Y.(m) | X.(m) | M.(kg)| bsbughe | JsbUahuahoss
318234.375  657684.375 3.75 7.75 848625 116.25 730
195375375  249479.325 9.75 1245 20038.5  27.45 730
220642.5 78073.5 9.75 345 22630 31 730
75684.375 63264.375 9.75 815 77625 1125 690
47678.4 95356.8 6 12 7946.4 12 662.2
44683.2 0 3 0 7447.2 12 620.6
1154316 74549.575 9619.3 620.6
0 74549.575 9619.3 620.6
1017729.825  1292957.525 | 4 169925.7

-]

DOHO'\U'I-hWNI—‘I_

7.61
5.99

X< :
& ® iy

YF)OP)-?

M. ¥Y.(kg.m)| M, X (kg.m)
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Jsb b gl Jsb b m=hw aly Ol

282487.5 583807.5 3.75 7.75 75330  116.25 648 1
173429.1 221455.62 9.75 1245 17787.6  27.45 648 )
195858 69303.6 9.75 3.45 20088 31 648 3
75684.375 63264.375 9.75 815 77625  11.25 a
28800 57600 6 12 4800 12 400 5
26964 0 3 0 4494 12 6
69657 44986.8125 12 7.75 580475 155 7
0 44986.8125 0 7.75 580475 155 8
852879.975 1085404.72 141871.6
X gz 5 oS s 7.65 VY il
Y caz 50 pm S e 6.01
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Analysis >Results >Structure Results >Center of Mass and Rigidity

Story XCM YCM XCCM YCCM XCR YCR
TOP 8.0 9.6 8.0 9.6 7.9 9.0
Story9 7.6 6.1 7.6 6.3 7.8 6.0
Story8 7.6 5.9 7.6 6.1 7.8 5.9
Story7 7.6 5.9 7.6 6.0 7.8 5.9
Story6 7.6 5.9 7.6 6.0 7.8 5.8
Story5 7.6 5.9 7.6 6.0 7.9 5.8
Story4 7.6 5.9 7.6 6.0 7.9 5.7
Story3 7.7 5.9 7.6 6.0 8.0 5.6
Story2 7.7 5.9 7.6 5.9 8.0 5.6
Storyl 7.7 5.9 7.7 5.9 8.1 5.6
PL 7.7 5.9 7.7 5.9 8.2 5.6
22 7.8 5.8 7.7 5.9 8.3 5.7
1 7.8 5.8 7.7 5.9 8.3 5.7

|
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[\ - W
55 3 e de = = X 100 = 3.8%
Cu3Sm 3l o e 0= T = 35.670
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Analysis >Results >Displacements >Story Max/Avg Displacements
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r 1.2 '
N
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Story9: (T) X 0.05x15.5=0.833m Story8: (T) x 0.05x15.5=0.832m
Nl

1.242726

2
= ) x 0.05 X 15.5 = 0.831 m

Story7: (
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Analysis >Results >Modal Results>Modal Participating Mass Ratios
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Ca=5 Ay< 0.02h  dib g b gls Oluasle gly Ay< 0.025h b obasle plo gl
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Analysis >Results >Displacements > Displacements Drifts
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Analysis >Results >Structure Results >Center of Mass and Rigidity
TABLET CEnters of IVIass and Rigiaity
Story XCM | YCM Cumulative X Cumulative Y XCCM | YCCM | XCR | YCR
m m tonf-s?2/m tonf-s?2/m m m m m
TOP 8.0 9.6 1.0 1.0 8.0 9.6 79 | 91
Story9 7.6 6.1 15.9 15.9 7.6 6.3 7.8 | 6.0
Story8 7.6 5.9 329 329 7.6 6.1 7.8 | 5.9
Story7 7.6 5.9 49.9 49.9 7.6 6.0 7.8 | 5.9
Story6 7.6 5.9 67.0 67.0 7.6 6.0 7.8 | 5.8
Story5 7.6 5.9 84.2 84.2 7.6 6.0 7.9 | 5.8
Story4 7.6 5.9 101.5 101.5 7.6 6.0 7.9 | 5.7
Story3 7.7 5.9 118.9 118.9 7.6 6.0 8.0 | 5.6
Story2 7.7 5.9 136.6 136.6 7.6 5.9 8.0 | 5.6
Storyl 7.7 5.9 154.5 154.5 7.7 5.9 8.1 | 5.6
PL 7.7 5.9 170.9 170.9 7.7 5.9 8.2 | 5.6
2 7.8 5.8 188.9 188.9 7.7 5.9 83 | 5.7
21 7.8 5.8 207.8 —— 207.8 7.7 5.9 8.3 | 5.7
Mg, = 2038.52 X 7.7 = 15696.6 ton.m —>  oed . XSy o eglﬁ.n S 0d9
\ ¥A - 207.8 x 9.81 = 2038.52 ton
Mg, = 2038.52 X 5.9 = 12027.3 ton.m Y Sy o egﬁn S
A
N R
Analysis >Results >Structure Results >Story Force
TABLE: Story Forces
Story Load Case/Combo Location P VX VY T MX My
21 EXP Top 0.00 | -238.70 0.00 1555.38 -10.81 -5777.01
21 EXP Bottom | 0.00 | -238.70 0.00 1555.39 -10.91 -6454.52
1 EXN Top 0.00 | -238.70 0.00 1275.66 -11.61 -5776.00
21 EXN Bottom | 0.00 | -238.70 000 1275-65——11.85 1,-6453.43

42




1 EYP Top 0.00 0.00 -238.70 | -2005.82 | 5729.01 11.62
1 EYP Bottom | 0.00 0.00 -238.70 | -2005.83 | 6405.48 11.92
1 EYN Top 0.00 0.00 -238.70 | -1641.70 | 5730.06 10.31
1 EYN Bottom | 0.00 0.00 -238.70 Y —T6a1:69—> 6406.70 10.51
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Design Properties
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4 L)
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L Factor} Ky Kz B, B, Cn
Major Bending 0.944 ‘ 1 1 1 1 0.301
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_m?xE _ 3.14% x 2000000
e (ﬂ)z B (36.88)2
r

= 14497.97 kg/cm?

Fy 2400
F., = <0.652Fe>Fy - (O.652732717-96) X 2400 = 2236.46 kg/cm?

By = Fyp X Ag = 2236.46 X 96 = 214700.16 kg

@P, = 0.9 x 214700.16 = 193230.144 kg

P,<@opP, — 81412.06 < 193230.144 ok

-
Ratio — 81412.06 — 0.421
0= 93230 .
- )
Demand/Capacity (D/&tio
D/C Ratio = (Pr /P¢ ) + (8/9)(Mr33 /Mcss ) + (8/9)(Mr22 IMc22 )
0.443 = 0.421 + 0.012 + 0.01
A )
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M ' M, 9\1384128 1384128)

Demand/Capacity (D/C) Ratio

D/C Ratio = (Pr /P ) + (8/ r33 IMcas ) + (8/9)(Mr22 IMc22 )

0.443= <& 0.421 + 0.012 +0.01

.ojlo )b§ (A-C) S 009d=e YO

b § dewloe gl

oSb Cygo s Slogh B go):ciils (“-:'Q"S’ s leS ooy8 L ”
(Cewl 0uss gildolze

= —70870.61 kg K. =05 K, = 0.67 V L =497cm
- )
Z33 133 R22 Area aaia
276.5 1863.6 4.924 48.2 2UNP16

i1y X ygme Jgo @hale 6)Lid Cud)bs Hlude

A\
A\
N
— A
y =E=0'5X—497=3994—<471 ’M= 135.966 OK
x Ty 6.221 ' - 2400 )

P - m2XE  3.142 00 _ 12384.87 k ,
ex =T L)? (399428 87 kg/em
b _ 3 <2250K

E, 12384 '

2400

Fy
F, = <0.652Fe)Fy = (0.652712384.87> X 2400 = 2209.84 kg/cm?

Py = Fo X Ay = 2209.84 X 48.2 = 106514.29 kg

@P,x = 0.9 X 106514.29 = 95862.86 kg

L) Cewl plp Y ygmo dy&bﬁnéﬂ.&é &fé)ﬁjlm

gy = KL _QOTXT_ 762 < a7 [P0 _ 35066 0K
YT T 4924 T 2400 47
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_m2xE  3.142 x 2000000

F,, = = = 4312. i
v = ()2 (67.62)2 3126 kg/em
fy _ 2490 = 0.556 < 2.25 0K
F, 43126 7 7

Fy 2400
F., = <0.652Fe>Fy - (O.652—4312-6) x 2400 = 1892.1 kg/cm?

By = Fp X Ag = 1892.1 X 48.2 = 91196.87 kg
@P,, = 0.9 X91196.87 = 82077.18 kg
.M)ﬁi})ﬁj)bbgﬁl&?)‘&ﬁﬁY,XQ@?BD)OOMML’?A 0 93 O b Coly yo

@P, = min{95862.86,82077.18} => 82077.18 kg

patio = 7087061 _
o ="82077.18 _ -

A
‘DemNCapac ty (D/C) Ratio
D/C Ratio = (Pr /P, ) + (B/Q)erss IMca3 ) + (8/9)(Mr22 IMc22 )
0.886 = o 0.863 + 0.023 + 0.004
el 0315 G515 1y 00 dewlone Sue Olos BB 1381 03
:Q’:&Lﬁ} gLl
Z33 133 R22 R33 Area CLIAA
277 \ 1 5.06 6.21 48 2UNP16

L Cwl plp Y ygoe Jy&bﬁ.n&)bﬁé k:,«.:é)B)LLB.A

L _KL_o067xa97 o . [2000000 . o .
Y7, 506 T 7 2400 7

o _TXE_ 3.14 x 2000000
NS (65.8)

= 4554.46 kg /cm?
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E 2400

y
Y - =0.526<2250K
F,, 4554.46 0526=2.250

2400

Fy
F, = (0.652%)1«; - (O.6524554.46> x 2400 = 1916.48 kg/cm?

P, = Fy XA, = 191648 x 48.2 = 91991.04 kg

@Pyy, = 0.9 X 91991.04 = 82791.93 kg 70870.61

8279193 _ 086

Ratio =

OIS oud Jolme Glasuin b gblis 38> Glasin G Gzl Ol Ol

Db odld ¥ Jle gle > 89 Cold Hludo @

)
1 )
L1 S §L
(Lo 4nd) Sy 3 35,0 dlols 1) Ly
L, 3
n S ghmer - Sl o 5 s Bl Ol gled) T
|
Amax = A, = 67.62 L = 497
. Ay
L 3, b 36762 ==> 1, = 256,61
o 4 mex ‘ 506 4 O 0cTTT T eonbian
L\

1
L, < 5497 ==>170cm

logyle uuLwlﬁl)LminﬁJblsgl.M);wﬁ)b 170cm plp |y Lo ded) g dlold

MUJS))J Glig $ly) )y gsj.n&b.&A&W)ljl 3cm09JodSH)§Un)E.3)b Sosb I)meLo.aJ&LéJ)l
Alp e ded) elsy) oilgd o LiL o 16cm plp 4o 160 0,6 gl glds) &5 o) 4 dzg3 b

0259 55 )0 6em 350> 00153 (0 35 |y Lo ded) Job iz 0 0250 LIS 48 h=16+3=19~ 20cm

PL20 x 6 X 0.8@170 cm
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T

,\_‘nb R ) Hlade 90 J8lus J’.‘)‘? &Jah:.n U.J«AS ;,us)b slude @.ma C,M @JLL:A

P,<OP, =0 XE, x4, ® =09 Gilhe Gip 550 0
//__> o3 Coomn 1-3-2-10 Jgdr

P,<QOP,=0XE, XA, @ =0.75 A, = UA,

Pryiela = ® X Fy, X Ay = 0.9 X 2400 x 48.2 = 104112 kg

Pt faiture = O X B, X U X Ag = 0.75 X 3700 X 1 X 48.2 = 133755 kg
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Py = mlnift,failure ’ Ft,failure}=lU4llz Kg

Axial Force a@ies

Py Force (kgf) Py Capacity (kgf) \ Py Capacity (kgf)
70870.61 82452.37 T~ 104004
525 Isasd 31 il U g deulons sy dbly o Olisabl Y5 gz 50 &S 085 L5 53U=1 Lo b (50
oS ooyl
B? + 2BH X
X = U - 1 - o s
4(B + H) ¢ Jlail s> Jsb 18

J..uab o oolasiwl dyge
od3laiwl 3yg0 oL 95 slo JU

(59 (o 5 & Jlail By9)

B=2Xx65+1=14cm A

Py L l42+2x14x16
- ooan T 4014+ 16)

5.36
=536cm U=1 S0~ 0.732

Piyiela = @ X F, X Ay = 0.9 X 2400 X 48.2 = 104112 kg

-m
Pt paiture = ® X Fy X U X Ay = 0.75 x 3700 x 0.732 X 48.2 = 97908.66 kg

.

,/, & - e -
TS ST I Lu/{d“' sl
Display ggio 3 03,5 Ulsat) Wigs (6 Slol 48 Olgis b &S (oo 45 ddS laul ETABS2015 dalsys 5o

s 00 yolls (g 02y 38 5 @S (0 VL) |y show Tables i3S

Analvsis >Results >Frame Results >Beam Forces

‘SMDL’AJL&U |}§|Jbﬁbﬁngm&5wg$ﬁlbvzg’)§u«)b Lo o8 4SS 5o iy Hlade 9
Mu.a ol Hlude MJSLQ

(A-C) s 03945 6 OB « Jgl dids yo ,had dyg0 43

h 16 cm IPE16 = ,3 jlu
tf 0.74 cm
h-2¢ 12.7 cm BOX 30 X 30 X 1.2 =gt jlu
b 8.2 cm ol 0B 433, Jaiys Tem ply Lilyo! alols
tw 0.5 cm
k= h- (hz_ 2¢) 1.65 cm
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0l s peked gl 5 Ppy dealone
R, = 1829.7 kg
R, < OR, = 1 X E,,, X t,,(2.5k + £,) > 1829.7 < 1 x 2400 x 0.5(2.5 X 1.65 + £},)

fy=26cm =2k=165cm £y =2.6cm

2L dealons

023 s

1.5
2y [t EF,,t
@Rn:0.75x0.4xt§v[1+3<gb)<—w> ] |—2L >R,

s b .
-l
R = 075 % 04 x 052 |14 3 ({)b) ( 0.5 )1-5 2000000 x 2400 X 074 _ o -
o B 16/\0.74 0.5 - '
- 4

ty>—683cm 2k=165cm * N ¢, =k=165cm

y

0 00latwl 12 0,6 (s 3 dS Wb dlgs (58 Canwd () 5

Py sy + (2l dlold
A (2ye Bl 4 dz i b Olopdgi ¢
B o 3 ol ool 39 53 G 30 okl Cawds 2.65 cm (o8 3 g wib o 12 cm jlp 12 0,6

3k Jsd B Wilss (e dloye ol

1 Jolgs dusloe ilyoo ghalie 50 (i 9 S polie lanl i dsb Gus e

p

1.65
e = + el dold =T+1:1.820m

e=182—-(t+r)=182—-(1.2+13) =—-0.65cm

b (6 0uS (s Jlad) ol 3o Giws &S Cwl ime (3 Cawl 00 Juol> Laie e ylude &S pl w dsgi b

:J//Vuu/é/: qu:/
R, =V, =1829.7 kg
1.85x 1, 1.85x1829.7

= =117
F,xt 2400 x 1.2 o

1 =
52




o DBl gl 658 & e BBl ol 05 RS bz BBl b 1y s Jeolo s Jsb iy o 51 U3

Dgd olssl L3 Jb yoye 3 Syp 3em JBlus &S dg

i Jgb J8lus b +3 =82+43 =11.2 £ £,=1.17 2£1=12 cm

w A e
W SIS

fr = 25 +20.25¢f < @R,

232
kg
R, = BEwAye E,,-0.6 x E,, Fie = 4200 —;
cm
-——_ y. 4
1829.7

fr = ™ 122\/122+2025><1822—9231<075><[075><06><4200><0707><a]—100217a

a=>01cm
L ol a5b e 1.2 em ((GuSL Ogtugd)ys Coslind) Colnd & ool 4 dz g3 b Ghgz d= JSlue
) Al Aeb 0 ? O N RETP R T =

YY) &‘95(2 -10 Jouz Jhusle e Olyyhe eod Coue ($ilae) 5 mm

|
a=05cm
:,&:L;«L‘L.J!Jy
b)b )bs (A-C) S 00948 HO (jue) ) )o).k.) d)g0 J.uob
tr b R22 R33 Area i
1.05 16 1.89 6.21 24 UNP16

s OVl Lol (89,0 sluda
T=R,XF,xA, =12x2400x (2 x 24) = 138240 kg
y y g

:M,),&’L:/L‘Lajuu"/
(.w)j 0 B 30 B9 ! Wpl.sem Cuolsus luwl
t=15cm
a2y polel Gl 3 988 (o0 o2 1 4 10 mm Lo,85 Cuwlsd 40 Slogh Jb Sl 4 dzgi b

Ulgub)ﬁnﬁmawd.:bs'jbab Rl 90 3 dalgs 10 mm s 5 SHU By Ceold 85 olge
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G e e 95 Slgie 5 SHU Clsd il sz sy S adly e Smm Lyl Gise d=y Blue Gleisle
39581 3) oolatul ds d>g3 b g 8yl 9929 Jlail B9 Byb 98 43 gz ol &S > O 3l e 10-2=8 mm
e Jisz d=s SSlus (33 (odudgd dgdoe Jladl 3y Cwlsd dioyd 62 4y Gige d= 5Slus WL E70 ¢ o3

a=65mm

oS o dewlon %Jsb Jl>

T < OR,, = OBFE,,Aye = 0.75[0.75 X 0.6 X 4200 X 0.707 X a X (4L,,)]

138240 < 0.75[0.75 X 0.6 X 4200 x 0.707 X 0.65 X (4L,,)] =>L,, = 344 cm

y‘
.
2
P :dﬁ/JW!,}QJGJ{‘yJ
- -\

T < 0.75F, x b x t + 0.9F, X L,, X t

USE: L, =40 cm

0.75x 4200 X 16 X 1.05+ 0.9 x 2400 x 40 x 1.05 > T = 138240 OK
— ,

:A:"Lz)‘jb/ JJU;! &/Ju"’f A

bxt=>A, .
bx15>48=>b>32cm USE: b =40 cm

. w o/
M ) s, ,;u"’f,)‘}’ y

b, =b+ 2L, Xtan30 =16 + 2 X 40 X tan30 = 62.2 > 40 cm

W (L uvj COGY 0 (P (PUR UKD ()Y TV L (P ) IO 9 OJAT C&wbd.’)w‘j ub).c

b el odds dwlowe 40 cm ghaide &S b el p B WY 5o &S JLasl Bys poye Js e
A, =A,=b,.t=55%x15=825cm .. . .

o g T e Ty B3 50 55 cm iy j9e9 12y 9 12y 2 o e 1ogus

020 0 pledl ) wiles )

R, =T < OR, = min(0.9F, X A, ,0.75F, X A,)
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T = 138240 < min(0.9 x 2400 x 82.5,0.75 x 3700 x 82.5) = 178200 > 138240 ok

2sdly ghde poye
2xXx40+16+2x1=100cm
l k’ ol dlols

sl f sl )P

Jlasl sl 5L 9590 Jsb
oud @had gla wiuoly

Ly

—=<14
t

E__40 ., [2000000
F, ~ 157 2400
USE: PL100 X 55 x 1.5 ‘ ‘

:u;’@/",,é’tdujﬂu’y

B S el b Bl ez b ainylae s ) Ml 3
3 (T) &10.5.&\ S Cudyb ylade dald) 5

‘a1

T, = T.cos(a) = 138240 x cos(32.62) = 116434.6 kg

T, = T.sin(a) = 138240 X sin(32.62) = 74520.32 kg

b (0 8-2=6 dg dwlgs 5Smm ply (IPE18),5 JL Cwlxsd (wlul p Gige o J3lus

3L E70 55 il 4 dzBY b (s ds S8l 09d e plail B9 Cuaw 99 51 Ghe U9z Guiz oo

oo b Gigo ) 35 (Amax = 0.62 X 1.5 = 9.3 mm)usb 1S Jlall Bys Ceolind doys 62

Dgd (o 03laiw) 6.5 mm iz ;Slus 9 J8lus
T, < @R, = OBF,,Aye = 0.75[0.75 X 0.6 X 4200 X 0.707 X a X (2L,,p)]

USE: L, = 90 cm

T, < @R, = OBFy,Aye = 0.75[0.75 X 0.6 X 4200 X 0.707 X a X (2L,,)]
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116434.6 < 0.75[0.75 x 0.6 X 4200 X 0.707 X 0.65 X (2L,,)]
Ty, < R, = OfF,,Aye = 0.75[0.75 X 0.6 X 4200 X 0.707 X a X (2Lyy)]

74520.32 < 0.75[0.75 X 0.6 X 4200 x 0.707 % 0.65 X (2L,,,)]

| UdE: Lyp = YU Ccm | USE: L,,, = 60 cm
USE: PL90 X 60 X 1.2 cm

A {//;d by sdes st gt
5L (e box 30%30%2.5 ply YU dads jo 9 box 40%40%3  plp ) dids 30 Ogiw ple

P, = F, x Ay = 2400 x 4(30 X 3) = 864000 kg

P, < @B, = 0.9 x 864000 = 777600 kg
Slaz 3 Ogiw dog o 30 iz 0 398 (5o 0dlaul 20 cm gldsyl 9 (oye 3 0gd (e 28

Dgd (0 dwloe p) ¢ daly 3,k s Gige 3 0dyly i sln L oolatwl 0uS Cusrw

—D
>

p 0uS Cusw glasyl b oy
fr = m}?nw‘qwe
nx2(b b d) B

_ 777600
"7 16 x 2(20)

= 1215 <0.75 % 0.75 x 0.6 X 4200 X 0.707 X a
. N |
a=>121cm=12.1mm

B T .
- b I S

394 )0 Gz 1y hawly Byy Cwld o2 9 0UiLS Citrw Canld (g5 (0 00w Jo oly SO Olgie
Flwlus ds dog3 L.cd S s yo Lo O 4 Jhats glo Ogiw Jb Cwlsus

uoub)é3cm)_3|)_3b,b.w|9(é)3&ob'>ubMMBZ.Scmﬁlﬁbm

d 4ttt s, 1543 E
Z = - —72<084 |— OK
s t, 25 F,

Dy dlgs L8 Oliwloe Jbled Gige SIus g JBlus dsmy 3. C8,S a5 58 03,88 1y 0uiS Cadew OlgS (0

:A/’J&u’wu:/
buly 3y ol =055 Ogiw Sl + Lo 0US G (238 1l 99
buly 39 olwyl =40 +2(20)=80 cm
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D9 dnlss Hio S ool did)S A 53 Glade ) Caly g 4 Jlail &S ol Cls

Analvsis >Results >Reactions > Joint Reactions

k
P, = 244140.1 kg BOX 25 25 % 1.5 fi =250 Cm_g2
A = B, _ 244140.1 = 1768 cm?
PT085%x 0 x /! P T 0.85x065x250 oM
o
P,  244140.1 kg
A, = Bx N =50 x 50 = 2500¢m? fo=gxN= 2800 - 2705z
ANV wm
D —095d 50-—0.95x%x25 B—08b 50-0.8x25
m= = =131cm n= = =15cm
2 2 2 2
D 3
b m=13.1cm
< ' N m' = max
n=15cm

0.8b

tp, = max{1.5n M , 1.5m JM ,
E, E,
0.95d m—

t 1.5 x 15 97.65 1.5 x 13.1 97.65 45
= . —— 15%x13.1 |——, t = 4.
\ ” max 2400 2400 cm

gy 3,5 0olatwl o 6uiS St 3 0193 (50 Ogiw ) doio Caslid (o lS (gl
d

v

A



http://icivil.ir/omran/?utm_source=header&utm_medium=header&utm_campaign=general-header
http://icivil.ir/omran/?utm_source=header&utm_medium=header&utm_campaign=general-header

v

A

:)Iaﬁdpgasipb)a@wﬂmw

fomax@3d5  97.65 x 182 x 11.52
M, = = = 1528.47 kg.
27 6@ +d2)  6(18Z+11.59) g.cm

10,8 Byb du s 4ol

— 2
M3 =a; X fp.max X dl

a_125 . Ms = 0.06 x 97.65 X 25% = 3661.87 kg.cm
d1 25 . -
v =
=&,~b oz 6 4ol 5o Ghes S duuloe
22
1 My = @1 X fpmax X b? = 0.048 X 97.65 x 222 = 2268.6 kg.cm

a — —
b 22 /P
My max = max{Mz , M3 ,M4} = 3661.87 kg. cm

A N
,M ,3661.87
t, > 1211 ”;y”“" =211 |— - =25em

Huew)y 2.5 cm 4 39 Cwls

USE: PL50 X 50 X 2.5 cm

20 9O élg )bse.ul.e dewlow bLmoJ.Z.ISC&éw&W)Ing&b Lb d do e o

e bl JRS @l Gl gblie.ea S o 513 30 ¢l )b sae SO wiles |y b OF 5 03,5 lue Ogtw )
DBl (0 d9mge U 50 L cuiS

fem- -
! Tem-—-

20 cm
20 cm

-—2.5 cm

—2.5 em

[
50 cm - - 50 em
58




A8l il mhie 83908 (o ghis

£; 97.65x50x125
M, = (fp.max X 351)? = 5 =30515.6 kg.cm

M, <0M, ©=09 oo Jos Sl Hlid
M, =M, = min (FE,Zy, ,My, = E,Symin)
Py Sx_minje.:J.aJC,JLo )a&h&u%e)b M, « 28] y9oxe Jg?&bm Blggluul.wl Zy daly ol o

Cewds 1y Seaad) Gis 5B 1 b O dewlows gl oS aib 0 Js> ghie J8lae Sl zblis (bl

_ - :
Q)9
say 2x[20x1x (5 +25)]+ Gox25x%D)
YESa T 2% (20x1) +50 x 2.5 =397 cm

. ey I

20 2 50 x 2
+(20x1)x<7+2.5—3.97> +|—

2 2
+(50x2)x<ﬁ—397) ]=4828cm4

1x 203

~ INA 4828
T 22-397 em’

M A)L‘J L‘uww)w dy).ub Mﬂ)&b&nwul Cawl ny dald] 4o
3

(@04 2; -3.97)

Zy =2 x[((20+2) —3.97) x 1 ]+2[(3.97—2)><1>< ]+[50><2.5><(3.97—1)]=624cm3

Y JAS g ghde Cud)ls Colg o
My, =M, =min (Zy ,Symm) X E, = 267.8 X 2400 = 642720 kg.cm

M, = 30515.6 < @M, = 0.9 x 578448 kg.cm ok
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20 cm
8.00

d+t -
d Yot S 20 + 2.5 E
g _ 05 P 95 =2225<084 [— 0K
ts ts 1 Fy

30.00 3.00

PL100%200*10

PLS00%200%10

20 cm
8.00

:bL«’Jgjy
Lo Wb

50 cm 10 cm

A1 D929 O 4ST yd idS (89,08 dzsliz Wed Lolb Léy Glogy 5 HidS G5, I

5 45 5lgs Use 30 Jlaz Ysame (e Slas ol s oolital Jlge Jse ol 51 gl by

b (020mm
0.75 Y
A
A\
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Tu S Q)Rnt Ry,f— = Fnt'Ant Fnt = 075 X Fu Fu = 4‘200@
0.75
) ‘( e d &
‘ -
kg
V, < OR,, Rypy = Fop. Apy FE, =4200—
F,, =045 X F, LS e d1u3d Caund ) iy ?Jo.w ;l

N A
F,, = 0.55 X F, LSS ygue U530 Cnud ) iy t.l::.w ;l

Cee U e O (g S WL )l D929 D §9,0 Al 4y dz g by 45 0)90 Ggtw BS 5o
396
V,, = 478.08 kg
vV, = V.2 +V,.?=+/478.082 + 527.382 = 712 k
W, =52738kg ¢ N W g

|
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ny —

20 0,6 D)ﬂﬂ.n dde )Lé% e el Hlade J8lus ) o

USE: 8020
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€ 1 €
ST g I~
= A
> NP —h—
3
B o
//

LI AN LT

~

Lyn =90cm
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(2800 sl ) Kal o

(2800 4ol 0l) 2l Sy ww o

olw =bb gg

ttem Walue
18 | Phi(Bending) 0.9
19 | Phi(Compression) 0.9
20 | Phi(Tension-Yielding) 0.9
21 | Phi(Teneion-Fracturs) 0.75
22 | Phi{Shear) 05
23 | Phi(Shear-Short Webed Rolled 1) 1
24 | Phi(Torsion) 0.9
25 | lgnore Seismic Code? Mo
26 | lgnore Special Seismic Load? Mo
27 | ls Doubler Plate Plug-Welded? Yes
28 |HSS Welding Type ERW
29 | Reduce HSS Thickness? Mo

" tem Value .

22 | Phi(Shean) 09
23 | Phi(Shear-Short Webed Rolled | 1
24 | Phi(Torsion) 0.9
25 . Ignore Seismic Code? No
26 | lgnore Special Seismic Load? No
27 v Is Doubler Plate Plug-Welded? Yes
28 |HSS Welding Type ERW
23 | Reduce HSS Thickness? No
30 |Consider Deflection? Yes
31 | DL Limit, L/ 0
32 | Super DL+LL Lim, L / 0
33 | Live Load Limit, L/ 360 70
o TO@r —amoer O, & o
36 | Pattem Live Load Factor 0.75




1.4(Dead+NDeadX)

1.4(Dead-NDeadX)

1.4(Dead+NDeadY)

1.4(Dead-NDeadY)

1.2(Dead+NDeadX)+1.6 (LiveR+LivenR+LivenR2+Leg+NLiveRX+NLivenRX+NLivenR2X+NL 0.5(Lr+NLrX)

1.2(Dead-NDeadX)+1.6 (LiveR+LivenR+LivenR2+Leg-NLiveRX-NLivenRX-NLivenR2

1.2(Dead+NDeadY)+1.6(LiveR+LivenR+LivenR2+Leq+NLiveRY+NLivenRY+NLj

1.2(Dead-NDeadX)+0.5(LiveR-NLiveRX)+1.0 (LivenR+LivenR2+Leq-NLiv

1.2(Dead+NDeadY)+0.5(LiveR+NLiveRY)+1.0(LivenR+NLivenR2+Leqg+NLive

1.2(Dead)+0.5(LiveR)+1.0(LivenR+LivenR2+L

1.2(Dead)+0.5(LiveR)+1.0(LivenR+LivenR2+L

1.2(Dead)+0.5(LiveR)+1.(“venR+Liven

1.2(Dead)+0.5(LiveR)+1@(LivenR+LivenR2+L

1.2(Dead)+0.5(LiveR)+1.0(Live

1.2(Dead)+0.5(Li\§))+1.0 i
1.2(Dead)+0.5(Liv

1.0(LivenR+LivenR2+Leq)+0.2(Lr)+1.0(-1.2*EPY+1.2*EX+EZ1)

R)+1.0(LivenR+LivenR2+Leq)+0.2(Lr)+1.0(-1.2*EPY-1.2*EX+EZ1)

1.0(LivenR+LivenR2+Leq)+0.2(Lr)+1.0(1.2*ENY+1.2*EX+EZ1)

5(LiveR)+1.0(LivenR+LivenR2+Leq)+0.2(Lr)+1.0(-1.2*ENY-1.2*EX+EZ1)

0.9(Dead)+1.0(1.2*EPX+1.2*EY+EZ1)

0.9(Dead)+1.0(1.2*EPX-1.2*EY+EZ1)

0.9(Dead)+1.0(-1.2*EPX+1.2*EY+EZ1)

0.9(Dead)+1.0(-1.2*EPX-1.2*EY+EZ1)

0.9(Dead)+1.0(1.2*ENX+1.2*EY+EZ1)

0.9(Dead)+1.0(1.2*ENX-1.2*EY+EZ1)

0.9(Dead)+1.0(-1.2*ENX+1.2*EY+EZ1)

0.9(Dead)+1.0(-1.2*ENX-1.2*EY+EZ1)

0.9(Dead)+1.0(1.2*EPY+1.2*EX+EZ1)
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0.9(Dead)+1.0(1.2*EPY-1.2*EX+EZ1)

0.9(Dead)+1.0(-1.2*EPY+1.2*EX+EZ1)

0.9(Dead)+1.0(-1.2*EPY-1.2*EX+EZ1)

0.9(Dead)+1.0(1.2*ENY+1.2*EX+EZ1)

0.9(Dead)+1.0(1.2*ENY-1.2*EX+EZ1)

0.9(Dead)+1.0(-1.2*ENY+1.2*EX+EZ1)

0.9(Dead)+1.0(-1.2*ENY-1.2*EX+EZ1)

(-EZ1)
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{4} Options for Export to SAFE L% ) | 41 Select Load Cases to Export to SAFE ﬂ
Story to Export Load Cases
Story |Base v —TAl— z
—{None}— =
Loads to Export
() Export Floor Loads Only ]
@ Export Floor Loads and Loads from Above £
(") Export Floor Loads plus Column and Wall Distortions
Load Cases and Load Combinations to Export |
[ Select Load Cases... | 130f 26 Cases Selected
[ Select Load Combinations... | 45 of 48 Combos Selected NDeadX
& NDeadY
NLiveRX S
e
[ oKk | [ Cancel |
4
) [ ok | [ Cancel |
I \_/
Lk AN
L/ ; Zexrgd o




r N
384 Material Property Data [ ? I&J
General Data
Material Name Cc25
Material Type Concrete 'J
Material Display Color - Change...
Material Notes [ Modify/Show Notes... ]
Material Weight
Weight per Unit Volume 2.5E-03 kgf/cm3
Isotropic Property Data
Modulus of Elasticity, E 265000 kaf/cm2
Poisson's Ratio, U 0.2
Coefficient of Thermal Expansion, A 9.9E-06 1/C
Shear Modulus, G 110416.67 kgf/cm2
QOther Properties for Concrete Maternials
Specified Concrete Compressive Strength, f'c 250 kaf/cm2
[] Lightweight Concrete |
|
Cancel
.
N 4
F T 2
254 Material Property Data @éﬂ
General Data
Material Name Alll
Material Type [ Rebar v l

Material Display Color

Material Notes

Material Weight
Weight per Unit Volume

Uniaxial Property Data

Change...

[ Modify/Show Notes...

]

7.85E-03

kaf/cm3
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Tesl Dead Tes2 +LivenR+ LivenR+Leq
Tes3 Dead+Lr Tes4 eR+LivenR+ LivenR+Leq+ Lr)
Tess Dead+0.75(LiveR+LivenR+ LivenR+Leg+ Tes6 +LivenR+ LivenR+Leq+
Lr)+0.7*0.75(1.2EXP+1.2EY+EZ) 75(1.2EXP-1.2EY+EZ)
Tes? Dead+0.75(LiveR+LivenR+ LivenR+Leg+ Dead+0.75(LiveR+LivenR+ LivenR+Leqg+
Lr)+0.7*0.75(-1.2EXP+1.2EY+EZ) Lr)+0.7*0.75(-1.2EXP-1.2EY+EZ)
Tes9 Dead+0.75(LiveR+LivenR+ Li2\§RE+Leq+ Dead+0.75(LiveR+LivenR+ LivenR+Leqg+
Lr)+0.7*0.75(1.2EXN+1. Z) Lr)+0.7*0.75(1.2EXN-1.2EY+EZ)
Tes11 Dead+0.75(LiveR+LivenR+ LivenR+leg+ Dead+0.75(LiveR+LivenR+ LivenR+Leq+
Lr)+0.7*0.75(-1.2EXN+1.2EY+EZ) Lr)+0.7*0.75(-1.2EXN-1.2EY+EZ)
Tes13 Dead+0.75(LiveR+Live‘I- Liv T Dead+0.75(LiveR+LivenR+ LivenR+Leq+
Lr)+0.7*0.75(1.2EYP+1.2 Lr)+0.7*0.75(1.2EYP-1.2EX+EZ)
Tes1s Dead+0.75(LiveR+LivenR+ Liv Tes16 Dead+0.75(LiveR+LivenR+ LivenR+Leq+
Lr)+0.7*0.75(-1.2EYP+1. Lr)+0.7*0.75(-1.2EYP-1.2EX+EZ)
Tesl7 Dead+0.75(LiveR+Liven Tesl8 Dead+0.75(LiveR+LivenR+ LivenR+Leq+
Lr)+0.7*0.75( 2EX+EZ) Lr)+0.7*0.75(1.2EYN-1.2EX+EZ)
Tes19 Dead+0. LivenR+Leqg+ Tes20 Dead+0.75(LiveR+LivenR+ LivenR+Leq+
Lr)+ .75(-1.2EYN+L, 2EX+EZ) Lr)+0.7*0.75(-1.2EYN-1.2EX+EZ)
Tes21 .2EY+EZ) Tes22 0.6*(Dead)+ 0.7 (1.2EXP-1.2EY+EZ)
Tes23 0. . +1.2EY+EZ) Tes24 0.6*(Dead)+ 0.7 (-1.2EXP-1.2EY+EZ)
Tes25 0. (1.2EXN+1.2EY+EZ) Tes26 0.6*(Dead)+ 0.7 (1.2EXN-1.2EY+EZ)
Tes27 (-1.2EXN+1.2EY+EZ) Tes28 0.6*(Dead)+ 0.7 (-1.2EXN-1.2EY+EZ)
Tes29 0.6*(D .7 (1.2EYP+1.2EX+EZ) Tes30 0.6*(Dead)+ 0.7 (1.2EYP-1.2EX+EZ)
Tes31 0.6*(Dead)+ 0.7 (-1.2EYP+1.2EX+EZ) Tes32 0.6*(Dead)+ 0.7 (-1.2EYP-1.2EX+EZ)
Tes33 0.6*(Dead)+ 0.7 (1.2EYN+1.2EX+EZ) Tes34 0.6*(Dead)+ 0.7 (1.2EYN-1.2EX+EZ)
Tes35 0.6*(Dead)+ 0.7 (-1.2EYN+1.2EX+EZ) Tes36 0.6*(Dead)+ 0.7 (-1.2EYN-1.2EX+EZ)
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Geometric Properties

Combination = Cormb14

Fuoint Label = 224

Calurmn Shape = Rectangular
Calumn Location = Edge
Global ¥-Coordinate = 1510 cm
Global Y-Coordinate = 750 cm

Load Punching Check

Awy. Eff. Slab Thickness = 143.2 cm

Eff. Punching Perimeter = 411.42 cm
Caver=6.8 cm

Conc. Comp. Strength = 250 kgffcm?2
Reinforcement Ratio = 0.0000

Section Inertia 122 = 392416554 cmd
Section Inertia 133 = 138681457 cmd
Section Inertia 23 =0 cmd

Shear Force = -520636.37 kgf

Moment Mu2 = 560843 31 kaf-cm

hornent Mu3= 10717438.86 kyf-cm

hax Design Shear Stress = 15.34 kgficm?2
Conc. Shear Stress Capacity = 12.58 kgffcm?2
Punching Shear Ratio = 1.22

—

A\

0.53¢(1 +% WF

—

0.53¢(1 +

V. = min

dag -
B VT

_——

&S shilen

EBN C_g Loul (2
s LT sl Sulidl (3

O Ly sl Hgilol 3l esla) (4

et
v = G 22003637 _ ce07598.4N
"Ta 075 '

2.2
d=150—5—7=143.9

by = 2(b; + by) = 2 X (193.9 + 193.9) = 775.6 cm

by =500 + 143.9 = 193.9

Dloe Uiy lude

Ailee 30 plp @6 sle Gsiw $lp ag slade

2
0.53x0.75 (1 + I) V250 = 18.85 76




Ve = min 0.53 x 0.75(1 4 (30 x 143.9)/2 x 775.6)V250
500
Pe=t50=1 1.06 x 0.75vV250 = 12.58
1 1 ! ! 0.4
i d 142 [Br L4 2 [1939
34D 341939
. 14 N M,,C N M,,C _ 520636.37 N 0.4 X 560849.31 0.4 X 10717438.86 _
YA Jex Jey  775.6 X 143.9 2462072.6 2462072.6
v -
216
805 151 3 7 5o b5 155 )5 4 5 5 630004 30
| D14@20cm
—— T T 0 (=250 kg/m
;
2
i P18@12cm

0.10

VAR

Var

C=150 kg/m
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